
NºFig. Descripción Nº(pcs)
1 blade cover 1

2 Prevailing torque type hexagon nut M5 5

3 Cross recessed pan head tapping screw ST4X10 1

4 protection head 1

5 Cross recessed pan head screw M5x25 2

6 washer for blade 6

7 upper blade 1

8 lower blade 1

9 gasket blade splint 6

10 aluminium bar bush 1

11 screw bolt 4

12 aluminium bar 1

13 ringht plate 1

14 Cross recessed pan head tapping screw 18

15 right handlebar 1

16 main trigger 1

17 main trigger spring 1

18 left hadlebar 1

19 cable plug 1

20 cable sheath 1

21 Cross recessed pan head tapping screw 4

22 cable clipboard 1

23 wire connection pole 1

24 inductance 1

25 main trigger spring 1

26 push button 1

27 left plate 1

28 right housing body 1

29 “E” rings 1

30 flat washer 5 3

31 flexible shaft spring 1

32 wanr 1

33 mandril 1

34 mandril ring 1

35 manril cap 1

36 micro switch 1

37 flexible shaft tube 1

38 flexible shaft thread 1

39 felxbile shaft tube spring 1

40 auxiliary handle button 1

41 bracket 1

42 safaty guard 1

43 capacitor 1

44 left housing body 1

45 iron wire 1

46 auxiliary handle button spring 1

47 front bar 1

48 upper cover 1

49 upper cover prevailing 1

50 Prevailing torque type hexagon nuts 2

51 Deep groove ball bearing 608 1

52 brush holder pin 2

53 brush holder 2

54 brush holder assembly 2

55 rotor 1

56 stator 1

57 Cross recessed pan head screw M4x25 4

58 down cover 1

59 Cross recessed pan head screw M4x60 2

60 Cross recessed pan head tapping screw  ST3x12 2

61 Deep groove ball bearing 609 1

62 Single coil spring lock washer 5 4

63 Cross recessed pan head tapping screw  ST4.8x19 2

64 center bracket 1

65 block for press slat 1

66 wahser

67 Rubber cover 1

68 Brake block 1

69 gear 1

70 Tension spring 1

71 Drawn cup needle roller bearing HK0808 2

72 Lower eccentric plate 1

73 Lower eccentricdown plate 1

74 position pin 2

75 Circlips for shaft, type A Φ35　 1

76 nut 1

CORTASETOS ELÉCTRICO CAMON HTEG32-660


